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Directions:-

There are all 26 questions in this question paper. All questions
are compulsory

Marks attached to the questions are mentioned against them.
Read each question carefully and answer to the point.
Question no,1 is multiple choice question, in which 8 questions
are MCQ and 2 questions are Assertion and reason based.
Write correct option in your answer book.

Each part of one marks each. Question no.1 carries one mark.
Question no. 2 to 5 are of one marks each.Question no. 6 to 15
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are of two marks each. Question no.16 to 23 are of three marks
each. Question no. 24 to 26 are of four marks each.

(vi) Thereis no overall choice in this question paper, however an
internal choice has been provided in few questions. Attempt
only one of the given choices in such questions.

1(®) w9 # TH HEH B [T & 91 yor | fa gar 2
1 (a)ln human beings after one month of pregnancy the embryo
formed .
(i)g=a(Heart) (ii)ure(Limb)
(iii) sigferdi(Fingers) (iv)sRi=ai(Eyelids)
(@)ve Frae gufa & GIFT d™e daiie & Jeaq | Ry 5 & forg
HETIAT B Sl Ahdll 2 | 39 dbeilid bl gol ®d 2—
(b)A childless couple can be assisted to have a child through a
technique called GIFT, the full form of this technique is-
(i) g R o7 fewqardl wEr=<Ru(Gamete Inseminated
Fallopian Transfer)
(i) gmae 3iq: fewrarfei werrro(Gamete Intra Fallopian
Transfer)
(i) g™ ar=dRe v ik =R (Gamete Internal
Fertilization And Transfer)
(iv) S BIfrepT MidRe fewrargl werr=<irer |(Germ cell Internal
Fallopian Transfer
() Fr=feRaa 1 fauroy e 9T 2 |
(c)Which of the following is a viral disease.
(i)2sm (Cholera) (iij7etRar (Malaria)
(iii)urferar(Polio) (iv)a =+ (All of these)
(6) MRT H IR ddAd ol fhas gas 9 faed fear T |
(d) The technology of biogas production was developed in India
mainly due to the effort of-
(i) IR Y srgde™ ulRyg 3R @rdl va gmem marr(ICRI and
KVIC)
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(i) IR By srgda™ | iR @rdl vd amHEnT (AR &
KVIC)
(iii) Tom =¥ (Pusa agriculture)
(iv) 71 @ @ig =81 | (None of these)
() graitst DNAEITAR) dasile &l Tlell T35
(e)Who was discovered recombinant DNA technology?
(i)o=a <1 arcas(James D Watson)
(ii)areex we &k yaRi(Walter Sutton and Avery)
(iii)¥<er @12 3R &ae arR(Stanley Kohen and Herbert Boyer)
(iv)ewmfd—< wrrem(Har Govind Khurana)

(@) URSIN SIET] 61 IYANT ATAIRS TR R Seqrad H {HIT Srdr & |
( f )Transgenic bacteria are used in production on commercial
scale-

(i)smﬁﬁﬂ:f (Thyroxine)

(ii)cer(Testosterone)
(iiiyar1a sgfer (Human Insulin)
(iv)werertrm(Melatonium)

(®) TIRRef® 3 § A= & U] wR 84T & |
(g) The trophic level of human in an ecosystem is-
(i) e\ o wR(First trophic level)
(i) fe<ia dvor w=(Second trophic level)
(iii )i arwor ==(Third trophic level)
(iv)agel urvor w R ((Forth trophic level)

(ST) 9IRT BT YA TS I ¢ |

(h) First National park of India is-
(iYerde st sem=(Corbett National Park)
(il)mreixem dig Se(Kaziranga National Park)
(ii)gerar wsfig sar=(Dudhwa National Park)
(iv)sTH & @i 181 (None of these)
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Ued G131 9 o & ol &1 & ol T 8, RS9 U &l srweper (A) den
T B RO (R) gRr Sifdhd foar w1 2 sAueAl & w8 Swka, b, c, ad
A FABY IR |

For question no.1(s)(GNtwo statements are given- one labelled as
assertion (A) and the other labelled as Reason (R). Select
thecorrect answer to these questions from the codes (a), (b), (c)
and (d) as given below.

(a)amed(A)sR ®R(R) M1 |81 8, dar &R (R)swewee (A) o 92
R HRCT © |

Both assertion (A) and reason (R) are true andreason (R) is the
correct explanation of the Assertion(A).

(b)srrarer(A)R wRI(R)em! w21 €, T R (R)sfddme (A)ar et
R T8l AT & |

Both assertion (A) and reason (R) are true, but reason (R) is not
the correct explanation of the Assertion (A).

(c)artrmem(A)EET B, g dRU(R)Tad & |

Assertion (A) is true but reason (R) is false.

(d)sr¥remer (A)Terd 2, tReg dRUI(R)HET 2 |

Assertion (A) is false but reason (R) is true.

&) (A)EHIBIorT fshd —Hry deshd &l S 7 |

Haemophilia shows cris-cross inheritance.

(R)EMBIfCRIT 1 U= R arell SiF U9l 7, 3R feofiT oz (X)uR urr
ST B |

The gene that cause haemophilia is recessive and lies in the sex
chromosome (X).

N (A)eH199.9% fdeicrss &Rl &l HH FT Tl 4§ fdeThel T Bl & |
Almost 99.9% nucleotide bases are exactly same in all people.
(R)sra st # 3164. 7faferae _ffderaierss &R 8id © |

The human genome consists 3164.7 billion nucleotide bases.

2 9Tl BIRTHISI BT R Bl 27

What is the function of sertoli cell?

3.519 @1 fhareiial Sa1s & RIT hed 8°
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What is the functional unit of gene?

4.fafade e fa awafa 87

What is the withdrawl syndrome?

5.31fa® ool f Ped B°

Which is called molecular scissor?

6.fg s &1 aHssy |

Explain double fertilization.

7.7 vresi @1 el eI oF § gaRerd $ifsTg |

selXell, HIXocdl, Ir'\'lqt{"l, HHD ofqd, TIXgell, JIHA

Arrange the following words in correct evolutionary sequence —
Blastula, Morula, Fertilization, Gametogenesis, Gastrula, Zygote.

8.411g 1] d1 AHifhd e gy |

Draw a labeled diagram of human sperm.

9. foeraerss quT <Jfderarag | &I 3fa &7

What is the difference between nucleotide and nucleoside.

10.371g0] yTfAeT &1 I&TERY Afed FHISy |

Explain Incomplete dominance with example.

11.PlasmodiumwirsHifead & a9 Sifoal @ 9/ Ry | &9 i Sifa a9

rfd® ardd 27

Write the name of three species of plasmodium. Which species is

the most fatal?

372ra1(OR)
e foaR # fHIRI &I efehled IR ST & Wad & folv a7 URT HRaT 87

SO DY g9 O Fhdl 27

What according to you encourages adolescents to engage with alocohol
and drugs? How can this be prevented?

12.57E WIS T 87 9 SId T A9 9d18y, Sl 59 I~ HRdl g |

What are cry proteins? Name an organism that produce it.

13,514 fRifeear @ar 87 TReARI STt &1 HAl BT SarErY ad g dqesy |
What is the gene therapy? Explain with example of Adenosine
deaminase deficiency.

14 .7 Hargd R fewft faRay |
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Write comment on cloning vectors.

15. ewIforar | 3y 1 | 81°

What do you know about commensalism.

16. 3TRT @1 7 3TWT & & B faIRay |

What is placenta? Write main functions of placenta.

17 .97sd & GRRTOMeT BT BT = & IA8radl o IHsV |

Explain mendel’s Test cross with the help of diagram.

18.84 9 IS & WANT BT Ioolkd HIfo | forad S=i- g fdhar o fi DNA £
SISCINCCED S

Mention Harshey and Chase experiment in which they proved that
DNA is the only genetic material.

19.fei77 \ge o7 {6 @ed &7 IfC Ud Uiy gy &l fadre 39 I $l a8h
AT | R 33T T, DT AT A § g AT fFT UBR SIS BT
T gRT 9SSV |
What does sex linked character mean? If a colourblind male
marries a carrier female, how this disease develop in their
progeny? Explain diagrammatically.
20. Sig JeRe [ YHR Fa&T Bl Iaxdl bl dald &7
How can bio fertilizer increased fertility of soil.

aigrar OR
G, BT Ud 9T W dIF I ST 9T b ord 27
What drug can be obtained from poppy, coca and cannabis?
21 .3rafRepd: wUIRT Siig a1 8?2 JATafRIdbd: WURd Uiel & Big &l o
ferfay |
What is the genetically modified organisms?Write any two uses of
genetically modified plants.

grerar OR
ggarTst DNA Ueiffia & UshHl &1 Ieeid DIy |
Mention process of recombinant DNA technology.
22.t% giRRfdd a1 § ol & YdIg &l oy |
Explain energy flow in an ecosystem.
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arerar/ OR

o= o fewolt forRgu—

OBEEEIRG] (DESSIER
Write a short note on following-
(i) Mutualism (i) parasitism

23 .59 fafqear w1 27 Sig fafdear wReor &1 A forRag |
What is biodiversity? Give method of conservation of biodiversity.

24 gt greul H TYIISY] S Bl |fers gqoid HIfoTg |
lllustrate diagrammatically microsporogenesis in flowering plants.

grerar / OR
o R fewolt forfgu—
(i)o=zg=ret fRrg (i )Seade
Discuss the following-
(i) Test tube baby (i) amniocentesis.

25.59 fderd w1 87 g f[der & oy Jorcad IRR AT 9 JAThIRS] qeIr
Sirared fagm | @ g ferd 27
What is biological evolution? Give evidence from morphology and
comparative anatomy and paleontology.
srerar/ OR

JATARIE He T 27 ATARID BT Bl WISl (AT HI° ATARID BT Bl A
faeryarg forRau |

What is genetic code? Who discovered genetic code?Write the
salient features of genetic code.

26.f541 Tfa & gren A AT 9918 b BiY Bl & (g o1l & Ui T &
MR F DI S | B $9 IGaW @ ol MR 19 FIF Bl YwAT DI | A1
e T =T BT 1egaT HIvTY T 71 gedl & IR dIRY |
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Villagers of a village started planning to make power supply for
agriculture purpose, from cow dung. They have started a biogas
plant for the purpose, study the flow chart given below and
answered following questions.

" Biogas |

TA

Tl 0 s o
B

TFermentative microbes

2 Soluble compounds _J\
£t

Proteins| | Fats | |Cellulose| [Hemicellulose

() NN qRHY F g Bl 2 |
(a)Biogas composed of majorly
(i) #iz(Methane), CO2, O2,
(i) CO2, H2S, H20
(iii) CH4, CO2, H2S,
(iv) H2S, H, O2
(@) T T =@ 7 A yeRig Rar © |
(b)In the given flowchart ‘A’ denotes
(i) argdra siay(Aerobic bacteria)
(ii) Aot Siarog(Methanogenic bacteria)
(iii) wesiidr Sirarog(Symbiotic bacteria)
(iv) Iee &R yiersiien(Yeast and protozoa)
(M) vt are ¥ wefid B wxar 2|
(c) In the given flow chart ‘B’ denotes-
(i) wareEsc(Carbohydrates)
(i) urd™ sgata(protein polimer)
(iii) @rdf® sa(Organic acid)
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(iv) swn(Fat)
@) 'C'®r w1 B 8?
(d)What is the function of ‘C’ in the flow chart.
(i) sifeer wraifies ARl @1 argdra urae IAerobic digestion of complex
organic compounds.
(il)sifeat e ATl &1 s/ 9ra IAnaerobic digestion of
complex organic compounds.
(iii) Frefw AT &1 fhvsad | Fermentation of complex
organic compounds.
(iv) Udhardhi @l fdhvad IFermentation of monomers.
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